IV-038 T ARV SRS (2005. 3)

16 11

0.61
tan 1

Y =19.5012X1 + 0.2757X2+ 9.6143

Y X1 X2 R =0.5680
195012451 0.5451 27.1956 5.2149 0.0000 il 3.739495 0.5014 0.5667
0.275730169 0.0446 0.1821 0.4267 0.6707 0.646208 0.0474 0.3085
9.614292734 19.2648 4.3892 0.0000 ** 2.190458

*x 1% * 5%
1917.59024 2 0587951198 [19.28916416/ 0.0000 el
4026.219284 81 49.70641092
5943.809524 83
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1
@
P(dV) = {1- P(V)}LdV 1)
v P(V)
L

PV) dP(V) V=0 P(V)=0 P(V)
PV)=1-eV 2)

j T ©))

T, =0Pv))- PV, j=0E - ) @)

O

x 10° Ix

)
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